T Strongman

il

E

EEERFR (EERHRE)
va1i5, 25, 35, 45%7|

W FE

1. SHHSR. RIESHRS, EREEE, LER
AESEBH ORI, GBREK. TARKRS
R ER.

2, NBEEAKBE, ZRIFNES, BREQSS.

3. WRNRE, BSH, MEEM,

W 2 5% 5 A

vQ 15 -17 -F -R -L —-R
P e T ZEAX | RESORDFS) | BBO0AE | &B0HG
®WIZR. AL | BER. @
RERRR | gpmowe| F:OEMR R: IBBSSt5E | D: @F D: @F
(BEE) |7 L: MIEET L. pesstsEm | R: @6 R: @5 (&%)
L. BE@E®S) | L. A%
B g xR
A5 SSERAEN e & 518§ iRr/min LG
MPa mi/ rev 1K 85 EER i) 5
VQ15-08 21 8.1
vVQ15-11 11.2
VQ15-14 14.3
1800
VQ15-17 17.1
600 10.5 12.5
VQ15-19 24.5 19.2
VQ15-23 23.3
VQ15-26 26.1
1500
VQ15-31 31.1
VQ25-18 18
VQ25-22 22
VQ25-26 26.2
VQ25-32 24.5 32.1 1800
VQ25-38 38.2
600 16.5 19
VQ25-43 43.2
VQ25-52 52.3
— 2
VQ25-60 21.0 60 1500
VQ25-65 65.3
VQ25-75 17.5 75 1200
VQ35-60 60.3
VQ35-66 66.4
VQ35-76 76.3
VQ35-82 21.0 82.3 1800
VQ35-88 88.3 600 34 42
VQ35-94 94.5
VQ35-108 108.2
VQ35-116 175 116.1 1200
VQ35-125 124.6
VQ45-136 136
VQ45-156 156 1500
VQ45-189 17.5 189 600 52 60
VQ45-216 216 1200
VQ45-237 237

B #T: RREES . SHERESEEARITEE(EW:1200rpm)

A-046



Strongman EEREHF

B ¥ BE R M4 (hisE68cst, ISOVG6SH, MiB40°C)
EREERT, ¥6E20cstbzaYAE( 1/min)
Btk 1000rpm. /B2 73 Mpa 1200rpm./& /IMPa 1500rpm.[& /IMPa 1800rpm.E7IMPa

0 7 14 21 0 7 14 21 0 7 14 21 0 7 14 21
VQ15-08 8.1 7 6 5 9.8 8.5 7.8 7 12.1 11 10 9 144 | 135 [ 124 | 115
VQ15-11 1.2 [ 103 | 94 85 | 134 |124 [ 113 | 102 | 166 | 155 | 141 | 128 | 202 | 185 | 169 | 153
vQ15-14 143 | 124 | 115 | 106 | 167 | 149 | 138 | 127 | 209 | 186 | 17.3 16 257 | 223 [ 207 19
vQ15-17 17.1 16 15.1 14 205 | 19.2 | 18.1 16.8 | 25.6 24 22.7 21 308 | 288 |272 | 252
vVQ15-19 19.2 | 176 | 16.3 | 15.1 23 211 | 19.6 | 181 | 288 | 264 | 245 |[227 | 346 | 31.7 | 293 | 27.2
VQ15-23 228 | 21.1 20 189 | 274 | 253 24 227 | 342 | 317 30 284 | 41.9 38 36 34
VQ15-26 26.1 | 24.2 | 231 22 31.3 29 277 | 264 |39.2 | 363 | 347 33 - - - -
VQ15-31 31.1 | 29.8 28 26 372 | 358 | 336 |31.2 |465 | 447 42 39 - - - -
VQ25-18 18.1 18 | 171 | 165 | 21.7 | 21.6 | 205 | 19.8 | 27.2 27 | 25,6 | 24.8 | 342 | 325 | 30.8 | 29.8
VQ25-22 22.1 21 19.8 | 188 | 265 | 247 | 23.4 | 22,6 | 324 | 30.7 | 29.1 | 282 | 38.9 37 35 | 33.9
VQ25-26 26.2 | 247 | 234 | 226 | 31.2 | 29.6 28 27.1 39 37 35.1 34 46.8 | 445 | 421 | 407
VQ25-32 321 | 30.8 | 291 | 28.1 | 38.4 | 36.9 35 33.8 48 461 | 437 | 422 | 57.6 | 55.3 | 524 | 507
VQ25-38 382 | 365 | 346 | 334 | 456 | 43.8 | 415 | 401 57 54.7 | 519 | 50.1 | 684 | 65.7 | 623 | 60.2
VQ25-43 432 | 413 | 391 | 378 | 51.6 | 495 47 | 45.4 | 645 62 | 58.7 | 56.8 | 77.4 | 743 | 70.4 | 68.1
VQ25-52 523 | 49.9 | 47.3 | 458 | 62.4 60 | 56.8 55 78 | 74.9 71 68.9 | 936 | 89.9 | 852 | 82.4
VQ25-60 60.2 | 57.6 | 54.6 | 52.8 72 69.1 | 655 | 63.4 90 86.4 82 79.2 - - - -
VQ25-65 653 | 624 | 59.2 | 57.2 78 74.5 71 68.6 | 97.5 | 936 | 88.7 | 85.8 - - - -
VQ25-75 75 74.9 71 68.6 | 90.6 | 89.9 | 852 | 824 - - - - - - - -
VQ35-60 60.3 | 57.6 | 561 | 542 | 723 | 69.1 | 67.3 65 90.4 | 86.4 | 842 | 81.3 | 108.5 | 103.7 | 101 97.6
VQ35-65 66.4 | 62.8 | 60.2 | 582 | 796 | 754 | 722 | 69.8 | 97.6 | 942 | 90.3 | 87.3 | 119.5 | 113 | 108.4 | 104.8
VQ35-76 76.3 | 749 | 71.8 | 69.3 | 915 | 89.9 | 86.2 | 83.1 | 1147 | 1124 | 107.7 | 104 | 137.3 | 134.8 | 129.2 | 124.7
VQ35-82 82.3 79 75.7 | 73.3 | 986 | 948 | 90.8 88 | 123.3 | 1185 | 113.6 | 110 | 147.2 | 142.2 | 136.3 | 132
VQ35-88 88.3 | 84.5 81 78.3 | 105.9 | 101.4 | 97.2 94 | 1324 | 126.6 | 121.5 | 117.5 | 158.9 | 152.1 | 1455 | 141
VQ35-94 945 | 90.3 | 86.5 | 837 | 113.4 | 108.4 | 103.8 | 100.5 | 141.7 | 135.5 | 129.8 | 125.6 | - - - -
VQ35-108 1082 | 103.7 | 99.4 | 96.1 | 129.8 | 124.4 | 119.3 | 115.3 | 162.3 | 155.6 | 149.1 | 1442 | - - - -
VQ35-116 116.1 | 111.4 | 107.3 | 103.9 | 139.8 | 133.7 | 128.8 | 124.7 - - - - - - - -
VQ35-125 124.6 | 118.7 | 113.8 | 110.1 | 149.5 | 142.4 | 136.6 | 132.1 - - - - - - - -
VQ45-136 136 | 130.6 | 125.1 | 119.7 | 163.2 | 156.7 | 150.1 | 143.6 | 204 | 195.8 | 187.7 | 1795 | ~ - - -
VQ45-156 156 | 149.8 | 143.5 | 137.3 | 187.2 | 179.7 | 172.2 | 164.7 | 234 | 224.6 | 2153 | 205.9 | ~ - - -
VQ45-189 189 | 181.4 | 173.9 | 166.3 | 226.8 | 217.7 | 208.7 | 199.6 | 283.5 | 272.2 | 260.8 | 249.5 | ~ - - -
VQ45-216 216 | 207.4 | 198.7 | 190.1 | 259.2 | 248.8 | 238.5 | 228.1 - - - - - - - -
VQ45-237 237 | 2275 | 218 | 208.6 | 284.4 | 273 | 261.6 | 250.3 - - - - - - - -

#iE: vQ15-08. vQ15-11. VQ15-14RR1EEREREE, FRBHEZD SR 220 cSt.

RERERSM, BEERNMNERERBRVG6S,

A-047



ERERE Strongman

B R~ E
VQ15i% g8

0.021

130 58 82
106 ‘ 53.5

0

0
=0.10

Nq
3
®19.05
21.24

0
-0.05

58
|
T

o ~
{  : s | T
| g
2-011E7 L
95
B g By = E#3/16"x7/8" HiH A 015

145.5

56 7%
L PN aomemia

4-M10iE17 P
V Q25i% B &
174
146
232 -1
@120 83 875 .19 2
I ! 60.5 .| il g
I m— —HHHR 8~
V 7 1. 50
/ N /_ﬁ [ <46..] 8
[ee]
8 - F— ¥

125
[
®101.6

2-013. £

9.5
13
‘ 4.5
30 0 038 2
! Hil 0 26 ‘ 32
R11 —\ N 5
u 3
S
R| @654 | 59
L P a-mtox1.sp
35.7 —
4a-M12x1.75p 2

A-048



Strangman EEELR

B R~ E
V Q3 5% & . -
‘ 213 -3 90 12
181 S ‘ FL%»
e
T T . 1 . T T
"= LN
g
g o . : N
b D o = U N
2-017.587L J 7@“
26T |-
=| 3
e
. i 0 030

Bl O ®53.5 2

2-017.5@7L 90 112 ]
©26%T T ms—\ g
- B R11

5 ey

762! s =
131 | 50 429

127
77.8

109.5_|

il

L 4-M10X1.5P3%19

P

: ) 30.2
| — | 4-M12i§19
VQ45% HE
212
181
307
: 110.2 : 135
‘ ‘ 83
2-017.5&7l I A B B
T T 69
LO_ 0
< 9.54.,, I
® il 0.021 — __5_0_> 8
N — i
} 3 |5
j b )
+0 ‘ 2 ;
127.0.05 \7 ®
2.7

4-M12X1.75Pi®19

=

69.8

+0
-0.021

38.1

#iHEO 075 L

#0038 5
4-M16X2.0Pi®19

4-M12X1.75PR19

A-049



EEBEHF Strongman

W O BE B A4S steee. (mKE68cst, 1SOVGESH, #iR40°C)

A, Bh-mE-WNTHE it

ymin  VQ15-08 min VQ15=11 min VQ15-14
15 20 25
= — @ ~=
= 16 21
" T T—® 1 ® 19 —
= 14
= I # 12— 2l L] 16 2
il A
7 1] o — T 2 s al
W 5 ik —| ik I —
2 z g 4 — £ 10
KW
4 KW
3 a6
3] 4.5
15 — 3
—_— 1 )| s -
= 0.75 = . =
0 35 70 105 14 175 21 O 0 35 7.0 105 14 175 210 0 35 7.0 105 14 175 21°
B HMPa B HMPa B HIMPa
/min -~ VQ15-17 /min - VQ15-19 I/min VQ15-23
30 — 35 45
28 @ 33 o) 39 ,‘
—— 2 —1 @
25 30 — 35 —
T ® I 1 | ®
22 — 27 — 31 \
20 =] 4 24 —— W 27 - Lo}
w18 — ] w21 by} 7 23 S ) I
B 16— 1 ® B 15 = B 49 ——
I KW 1 |Kw KW
14 @ 9 15 2 9 15 12
37.5 < 10
2 6 8
1
=14.5 6
/
= 3 4
15 =l ] 5
0 0 0
0 35 7.0 105 14 175 21 0 35 7.0 105 14 17.5 21 0 35 7.0 105 14 175 21
EHMPa EHMPa B /1MPa
ymin ~ VQ15-26 /minVQ15-31 I/min VQ25-38
50 60 70\
45 4 55 —— 66 @
| 60
49 p — .
40 37 —| ) e S 3
i — —— 54
35 I~ L 43 1% — sy
| 5 T & A 48 A
# 30 = ?jj w37 1| Ijj g =] 2 I)J
£ P e e e g P £ % — % £ 2 — %
—— 1 @ — 31 I KW 36 — 1~
25 —— 13.5 - | WA *\ KW
20 H— 11 @ 30 ol
/3\ 2 15 118
a1 0 = 12 =1 14
T @
< 6.7 = 9 L 10
4.5 | 6 ] 6
/
2 3 =l 2
0 0 0
0 35 7.0 105 14 17.5 21 0 35 7.0 105 14 17.5 21 0 35 7.0 105 14 175 21
EHMPa B HMPa B HIMPa

A-050



Strongman EEREHF

AN S
W AE AR
I/min  VQ25-43 I/min  VQ25-52 I/min  VQ25-60
= 11
O T T Ta ST ] @ -
72 —r . 87 = — 105 ——cy
66 w 80 - 100
1 3) A 1 ® _
60 — 73 o 90 —15
E @ —— &
53— 66 X 80 b
i —— @ B — 5 1
47 —— KW 59 — ! 70 o .
4 @ 23 E o — * £ g I B e
=) \\7;,4 = ——— [ @] KW 2 1 | ]Kkw
35 =20 45 — 30 50 %4 39
(3 3)
~1 18 A o5 = 25
@ ) @
© 14 20 —] 20
110 15 L 15
L1 L1
== 6 10 10
2 5 ] 5
0
0 35 7.0 105 14 175 21 0 35 7.0 105 14 175 21° 0 35 7.0 105 14 175 21°
B/ MPa B/ MPa B HMPa
I/min VQ25-65 I/min - VVQ25-78 I/min  \VQ35-82
120 140 150
105 N @ - |
] — 135 @ 145 ——
95 ST 125 180 = A
85 10— 3 W I et
ij
75— —T1 ﬁ)ﬁf T A 15 —
I — 95 — 2 v 100 - A
65 —— = I e — 12 o)
#* T3 | = w80 ——1—1 T # I B -
2 55 KW 2 . KW 2 85 —— )
35 & 373 40 70 \\\\Ks\gv
{ 30 @)
34 80 i 31 40
20
24 2 30
: 10 L]
5 i 20
—
6 2 10
0
0 35 7.0 105 14 175 21 0 35 7.0 105 14 175 21 0 35 7.0 105 14 17.5 21°
B AIMPa B AMPa B/ IMPa
~VQ35-108
I/min
VQ35-88 VQ35-94 200 =——T1" ] -
I/min I/min 185 (4
160 — 170 — — —
—t | @ | @ 170
150 — 155 I e
135 ——T 140 = B 185 i e N
- | | I et S 140 - A
120 125 — [ ] ® B
i — w 125 —— ]
05— A 110 ——> A - %
T _——T—— 3 & 110 T ]

90 —— T E 95 S ——— N ) z = — KW
%75 W # 80 — 85 @ 0
o = 89 50
. B B 2! 40

,3\ 40 =
= 30 //Cﬁ 30
= 20
20 —
—— e 10
10 10 0
0 0
0 35 7.0 105 14 175 21 0 35 7.0 105 14 175 21 0 35 70 105 14 175 21
EHMPa EHMPa B/ MPa

A-051



EEERR

Strongman

VQ35-116 VQ35-125
1If/srgin I/min
185
I — ® T @
160 — 170 |
150 160
140 — 150 —— — #
130 - N 140 —] — 5
— — |z
120 — % 130 =
& I —— @ ] i 120 —= »
& 110 N S KW & | Kw
3 110 =— 60
100 - 50
@ > 50
a) “0 1) 40
— 30 —1 30
/ 20 /
20
/
10 ] 10
0 0
0 35 70 105 14 175 21 0 35 70 105 14 175 21
B HMPa B/ IMPa
VQ45-136 VQ45-156 ~VQ45-189
I/mi I/min I/min
2407 260 300
220 240 280 —
200F 3 r—— @ 260 — T ——F—— )
C T S N 220 D —— C
180 ) 200 # 240 )
160F o A C 2 A 2201 5
[ 1 % 180 e | % _\\\\2\ %
140 —— <l 160 - 200
—— T [a F— D C
o 120 KW o 140 ———KW .. 180 KW
Uik — Uik — Uik —
£ 100 80 £ 120 80 2 160 80
70 7770 70
3 60 < 60 60
~ (2)
5><150 50 50
1) 40 1 40 40
30 30 30
20 20 20
10 7'? 10 e 10
0 0 0
0 35 70 105 14 175 0 35 70 105 14 175 0 35 70 105 14 175
B AIMPa B AIMPa B/ MPa
I/min VQ45-216 I/min VQ45-237
280 120 320 110
260 110 300 100
240 S — ) 100 280 e — 90
- — r —
220 90 260 — 80
- 7] @) L]
200 —TT 80 X 240 T 5 70 X
[ — I e P s Y s
180 2 70% 220 —— 60% W #&iE: HiEEE
o ~ 60 = 200 50 @ 1000rpm
i 1) 50 KW i Kw
= = 40 @ 1200rpm
40 30 _
® 1500rpm
20 10 @ 1800rpm
10 7 0
0
0 35 70 105 14 175 0 35 70 105 14 175
E7MPa EHMPa

A-052




	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52

